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Part 1 - No Calculator U

Advanced Algebra 2 Chapter 7 Review Worksheet Name:

Graph the function. Show the transformation of 3 points. State the domam and range Be
sure to draw in any asymptotes.
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Simplify each expression.
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Write each equation in exponential form.
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Evaluate each logarithm.
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9. Condense into a single logarithm. Then simplify fully.
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10. Expand the logarithm and simplify.
AL

tOCja}'Ix—l&ﬂ-,,lor
leg, 371+ log, X = 160G, 1O = o\« %
&G OGs, » tOq N 4

27x
'[W] logs, X7+ logax = ( log, 1O+ log, evthay™

Solve each equation. Show work. Check for extraneous answers.
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Given: log,3=a and log, 8 =b. Evaluate the following logs in terms of a & b.
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1. You bought a new motorcycle for $14,000 in 2012. The value decreases by 18% each year.
~p
a) Write a model that gives the motorcycle’s value after ¢ years. = 14, 000( 82
b) Find the value of the car in 2016. Round to the nearest dol]aﬁ‘(ﬁ 229.70
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c¢) Find the year when the value of the car will be less than $5000. Ltadr o
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2. You deposit $5,500 in an account that pays 1.75%. How much money will be in the account after

10 years based on how often the money is compounded? SHOW SET UP.
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3. Draw the graph of y=2e"" +3 including the asymptote. State the domain and range. Name 3 points on

your graph. Any rounded values should be to 3 places. 5’,?“4 9 ’ "
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4. The number of salmon (in thousands) in Lake Michigan can be modeled by P =242¢ ™ where tis
the number of years since 2007. How many salmon will likely be in Lake Michigan in 2018?
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5. You deposit $4250 in an account that pays 2.25% annual interest. How long does it take the balance reach
$5000 when the interest is compounded quarterly? Show work.
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Solve each equation. Check for extraneous solutions. Round the result to three decimal places if

necessary. Show all work.
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